
Time: 10 Minutes Paper Science 8 Total Marks: 10

1st Month, 2nd Week, 3rd Day Syllabus: Unit 1, Overhunting to migration

Q.No.1 Encircle the correct answer from the following choices. (0.5<<<<6====3)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX
i. Excessive hunting of animals can causes: """"����˜̃̃̃YYYYââââggggzzzzVVVV»»»»DDDDggggññññZZZZ####ááááCCCCìììì::::
(a) Edangered of species )²ÆZh»eƒä» (b) Extinction of species )²Ænzxƒä»

(c) Increase of species )²Æ(,"» (d) None of these Zy~Ãð7
ii. ____is the relentless chase for wild or game animals to kill or catch them for

economic or personal gains for food.

1111cccc****ööööÆÆÆÆYYYYââââggggzzzzVVVVÆÆÆÆaaaaççççÙÙÙÙcccc****ffffZZZZCCCCÃÃÃÃZZZZ++++}}}}cccc****ppppggggZZZZuuuuÆÆÆÆaaaaZZZZ7777ââââggggääääcccc****ññññääääÆÆÆÆaaaaÚÚÚÚùùùù™™™™********ììììXXXX ''''
(a) Migration âÂc (b) Predation 6,i+c

(c) Overhunting ¹ic*Š{Dg™** (d) Commensalism Ã!54hÎæ G
E

Ex
iii. Over population may causes: WWWW!!!!****ŠŠŠŠ~~~~»»»»((((,,,,−−−−zzzzzzzzááááCCCCìììì::::
(a) Lack of water 0*ã~¶Å (b) Climate change W[zƒZ~p~Å

(c) Pollution WßŠÏÅ (d) All of these tÓx
iv. Over population and our constant need for factory-made products may

results in the loss of fresh water in:

~~~~@@@@****iiii{{{{0000****ããããÅÅÅÅ¶¶¶¶ƒƒƒƒ$$$$ËËËËììììXXXX '''''''' ZZZZzzzzzzzzgggg0000****7777øøøøZZZZzzzzggggøøøøgggg~~~~1111~~~~ÐÐÐÐ»»»»gggg™™™™ŠŠŠŠ{{{{¡¡¡¡¬¬¬¬]]]]ÅÅÅÅÚÚÚÚ¢¢¢¢zzzzgggg]]]]ÆÆÆÆËËËË~~~~

(a) Rivers Šgc*îV (b) Canals 1zV (c) Lakes *V (d) All of these tÓx
v. ____is the movement of organisms from one place to another.

WWWWgggg····....çççç
YYYY
EEEEEEEE''''××××ÅÅÅÅZZZZqqqq----((((ÐÐÐÐŠŠŠŠzzzzuuuu~~~~((((ÜÜÜÜzzzzwwww••••ììììXXXX ''''''''

(a) Population 0*7ø (b) Migration âÂc

(c) Predation 6,i+c (d) Mutualism ñ7ÎæFEx

vi. The migration usually take place for search of: ââââÂÂÂÂcccc''''ÅÅÅÅ̂ˆ̂̂llllÆÆÆÆaaaaÅÅÅÅYYYYCCCCììììXXXX ¬¬¬¬xxxxîîîîgggg6666,,,,

(a) Water 0*ã (b) Food pgZu (c) Shelter C{Ç{ /¿ (d) All of these tÓx

Q.No.2. Write short answers. (2<<<<2====4) ¿¿¿¿����ZZZZ!!!!****]]]]KKKKXXXX
(i) What are the harmful effects of overhunting? Zzzg4545ë X

E
HE
Y

ÆvyŠ{ZW,Z]H÷?
(ii) Define migration. âÂcÅ°p™,X
Q.No.3. Write long answer. (3) ----����ZZZZ[[[[KKKKXXXX
(i) Write a note on shortage of water supply. 0*ã~¶Å�ÛZb6,Zq-âK̂X
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